ag.ieydul M/H

23Jeyou| 21§

S3ZINIW INIHI US g8 F ;ﬂ. 1NVd HSIHLVS HIN
vV g
LT'€ET66C |T62S |[ST'¥ZT |89 SLLITT  |LoZ SS'960C |vZT LT'6VEYT |T8EZ |S9'9ETZT |TIVE |ejoyl
0¥'89L 91 000 0 060 T 0s9 [4 0S'STY SL 09'9t¢€ 98 0Z-220-1¢ LE
LT'€98 091 GC T L 000 0 YA} S {S'9¢EY 6L ST'S6E St 0Z-220-0¢ 0€
S8'€9L 0LT 0 0 9'v e ¢ T S'SEY 8 ST A S8 0Z-220-6¢ 6¢C
SO'T06 ¥0¢C S0t v SS'6T 8 S9'%9 0ot S9ELY 06 STTEE 6 0¢-3°0-8¢ 8¢
Sv'eee Tee OT'T 1 0S8T 9 St'GET vT ST 91y 0T SCTSE 86 0¢-220-LC LT
06°'SEL vl SY'T E 01’9 € S6'TE S SC'S8E 9 51 1LTE LE 0¢-220-9¢ 9z
0E'LETT €ST SELE € 14 Fé 08°€9 v S8'8€ES LL (0153574 L9 0¢-230-5¢ S¢
06°08L 6TT 0881 E SL°T1C S 06'St € Ov'ese I8 SO'TveE LS 0Z-220-¥¢ e
0T'9€b6 S0 09'0T € 0s'sg 6 0¥'88 0T ovety L8 02'68€ 96 0¢-2°Q-€¢ EE
02'908 991 oT'¥ [4 SS0 T 09'8 ¢ S9'9¢EY €L 0E9SE 88 0¢-290-¢¢ (44
SS'ETS SS 0 0 0T'0C 4 0 0 0Z'€8C 0€ SZ'0¢e €C 0¢-22Q-1¢ TC
08'ETET LLT S6'91 14 0c'et €T 06t 0¢ 09°¢ces 89 SO'sty L 0¢-32Q-0¢ 0¢
SL'69C1 91 St'L E 0991 € 04°S0T 6 SL'L9S 69 STTULS 8 0Z-220-61 6T
06°000T 80¢ 06'C 4 08V G S8'0v 9 ST'LES 143) 0Z'STvy 701 0¢-2°0-8T 8T
1CCE vt 0 0 SE'9 E 0¥ 06 8 0L°CPS TS SS'18S 6L 0Z-29Q-LT Vi
0¥'v66 61¢C S0'9 14 06’8 E 0T°Z6 €L S8'8v v6 0S'8tY SOt 0Z-230-91 91
S¥'z08 LST or'¢ C 0 0 0 0 ozecty L9 S8'0LE 88 0Z-2°Q-ST ST
S9'EE0T 791 <S9's 4 S6'LT C 06'te Vi St'9€sS €8 0L'0S¥ £/ 0¢-2°Q-¥1 4"
SO'T06 8.1 08°ET 9 Sv'8 € 0¥'s8 4 S9'9GY 98 SL9€E 9L 02-2°Q-€1 €T
8E0T 04T 0Tt ¢ 09'T1 T 5586 11 SS'S6h ¢l 0z 0tYy 1%4°] 0Z-29Q-C1 CE
LEDE 09T 08's 4 09°S [ 02¢°69 14 S6°0¥S 06 SY'Stivy 29 02-2°Q-TT LE
STECTT vee 58 L 7 og'ze v SO'STT T S1°89S T0T 0T 00t 10T 0Z-220-0T 0T
0L°SPTT LE2 06'T ré 0S°1¢ i 06°LTT 8 7SS T0T 0v'0osvy v0T 0Z-220-60 6
09°'66S SLE 0 0 oe'ct 14 0 0 06’6 19 08°€6¢C IS 0¢-2°0-80 8
S6°'SPIT S6T §9°91 L 0Z'18¢ LE SO0'¢L 0T ST'8Zvy 5L 06°LPE 99 0¢-224-L0 L
06'60¢CT 90¢€ 8 14 SEE8T v 06’91 €€ 06°09¥% TTT SL'T6E LET 0Z-2243-90 9
SLPITT 04T S6°0 T 0E0LT €T 0T'€9 € SE'LYS €L SO'e8¢ 0L 0¢-220-s0 S
0T'Z80T1 LYT 0 0 ST9 i 5599 14 VLS 08 Ov'SeEY 79 0Z-220-¥0 14
SS'9701 (472! ar L 4 08'st S 06'6€E £ S90S 89 LYY 9 0¢-220-€0 €
0911 {0rd oz'zce S SCECT i 74 ¥8 T ST'esy €8 0S'¥SP 8 0¢-22Q-20 (4
0€E'8LY 89 0 0 0 0 0 0 08'6S¢C LE 0S°81¢ 1E 0Z-224-10 T
ySiom| wno)| wySiam| unod y3iam| wuno) 89| wunoy ysisp| uno) y3ism| wuno) aleq ‘ON IS
|eloj| sSeg 21x03103A) SaMYM xog yJeA an|g sseg pay s3eg moj|ax

-3/1G0N

1uawWysi|ge1sy aJes yijeaH -adA] Juawysiqelsy

0¢0Z-¢T-1¢€ - 0Z0Z-ZT-10 ‘poliad

|endsoH 283||0D |BJ1PaIA SUYO[IS




